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1.3 R 83,051,000 83,051,000 83,047,420
1.4 A 55149 83,051,000 83,051,000 83,047,420
1.949 34,794,000 34,794,000 34,792,530
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a2 = 542,230
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LAY TR 100,000 100,000 100,000
1AM RS 100,000 100,000 100,000

AHE R = 100,000
2. A2k 360,000 360,000 360,000
1. A ke by 360,000 360,000 360,000
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10,350,000 46,994,000 46,992,860
Amolds 10,350,000 46,994,000 46,992, 860
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1.eAAY A= 10,350,000 10,350,000 10,348,860

FAALG A 10,348,860
20144 0 36,644,000 36,644,000
1.0 AL A 0 36,644,000 36,644,000

o] At = 36,644,000
Al A 493,788,000| 530,432,000 530,426,240
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